Chapter 13b
m Revision

qe AREA of a flat shape is simply defined as

*the amount of space it takes up".

If you think of a square 1 cm by 1 cm, we say it has an area of

1 square centimeire (or 1 cm’ for short).

note - (1 cm’ reads as "1 square centimetre”).

\

m Each box in this exercise represents 1cm’.

1. a Howmany boxes (1 cm by 1 ¢m) are shown here ?

b Write down the area of T

2. Write down the areas (use cm

he shape in square cenfimetres :-

?) of each of the following shapes :-

b

a
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gstimate the areas of these shapes as follows :-

3.
If more than IE abox is covered —>  count it as 1 em?
If less than '12' abox is covered —>  do not count it at all
—t b
a
T .
¢ d
)
/' Se—
de o ]
j \
\ L
}L W Sk >
fE Book 2a - Chapter 13b this is page 123 Area



calculate the area of each of the following rectangles.
3. In each case. make a small “sketch” of the rectangle first,
Write down and use therule "A = L x B" to calculate the areq in cm?,
a b c
\ 4cm 7 cm
\ 8 cm
3 9cm
\!\ 6 cm
i e
\ d 15 cm f
\i\ 6 cm
\ 22 cm
9cm
'\ 8 cm
5cm
}9‘ [ If the length and breadth of the shape are given in metres, R
then the area will be in square metres. Tmers
\ -
\1‘ = The area of a box 1 metre by 1 metre would be 1 m? 2
! 1 metre I1m
E 4. A carpet fitter has to lay carpets in 5 rooms in a hotel.
N
Use the formula (A = L x B) to help him calculate the area of each of the rooms (in m?).
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5. He charges £10 per m? for the carpet, including fitting.

How much must the hotel owner pay him altogether for his work ?
CfE Book 2a - Chapter 13b this is page 125

P r—

T
@;/*’46’ e

Area




6 A farmer needs to spread manure on his field. He must work oyt the
are,

a of each 1.

.. g Poror iy
Calculate the area of each of his fields, inm®:= You may yse 4 caley lelg

a b g
17 m ‘ G \

16 m y !
24m Q

“a

/aTop h8pe

70m

7. Lucy has a rectangular plot of land for which
she wishes to buy turf to create a new lawn.

The turf is priced at £1-35 per m”.

Calculate the total cost of turf required.

8. Davie decides to varnish the Scoyt Hall f|
00
a Calculate the area of the floor ’»
b Alitre of varnish covers 15 2
How many 1 litre tins will be needeq for
one coat of varnish ?
¢ If each tin costs £8:75, what wil it cogt,
cover the floor with two coats of varish)
— : ’ g
9. a Numerically, which is bigger - the AREA of a rectangle measuring 3 cm by 5 cm,
or its PERIMETER ?
b Wha_t about a rectangle measuring 6 cm by 2 cm ?
¢ Isthis true for any size of rectangle ?
Investigate by studying various sizes of rectangles.
: 'd  What about squares ? - Investigate. s
Aret
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